

# Saskatoon Livestock Sales Presort Sale - March 10, 2026.

Tuesday, March 10, 2026 -- 10:00 AM

Pre-Sort

This is a live broadcast of a pre-sort sale out of Saskatoon Livestock Sales, SK. For more information call Jeannie at (780) 554-4939

## NOTES...

---

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	328T	4	STRS	TAN	701	2803	TAN
2	2	312	5	STRS	CHAR	551	2757	CHAR
3	3	239	4	STRS	GREY	708	2833	GREY
4	4	324	2	STRS	BLKA	466	931	BLK
5	5	603	3	STRS	BLKA	570	1709	BLK
6	6	702	4	STRS	BLKA	700	2800	BLK
7	7	602	9	STRS	BLKA	752	6767	BLK
8	8	606	5	STRS	REDX	616	3079	RED
9	9	323	2	STRS	REDA	520	1041	RED
10	10	CP2	4	STRS	REDA	708	2831	RED
11	11	BP4	39	STRS	SAL	802	31284	CHAR
12	12	BP3	73	STRS	SAL	877	64001	CHAR
13	13	BP6	18	STRS	SALR	830	14933	ANGX
14	14	BP7	19	STRS	SALR	910	17297	ANGX
15	15	BP5	16	STRS	SAL	986	15775	CHAR
16	16	327	2	STRS	ANGX	822	1644	ANGU
17	17	307	2	STRS	ANGX	919	1838	ANGU
18	18	132	2	STRS	XBRD	674	1348	XBRD
19	19	229Z	2	BULL	ANGX	353	706	ANGU
20	20	222	3	BULL	ANGX	450	1351	ANGU
21	21	223	1	BULL	ANGX	590	590	ANGU
22	22	335	3	BULL	ANGX	744	2232	ANGU
23	23	220B	3	BULL	ANGX	967	2900	ANGU
24	24	232	1	BULL	MXD	650	650	MIXE
25	25	127X	2	HFRS	TAN	562	1125	TAN
26	26	112	6	HFRS	TAN	617	3702	TAN
27	27	126	12	HFRS	TAN	697	8365	TAN
28	28	315X	10	HFRS	TAN	760	7595	TAN
29	29	202	4	HFRS	CHAR	476	1906	CHAR
30	30	CP4A	8	HFRS	CHAR	605	4839	CHAR
31	31	211	7	HFRS	CHAR	695	4863	CHAR
32	32	209A	5	HFRS	CHAR	763	3816	CHAR
33	33	122A	10	HFRS	CHAR	844	8440	CHAR
34	34	BP8	48	HFRS	ROSS	769	36892	CHAR

35	35	BP9	17	HFRS	ROSS	874	14861	CHAR
36	36	109A	3	HFRS	BLKA	417	1251	BLK
37	37	704	6	HFRS	BLKA	487	2920	BLK
38	38	CP6	5	HFRS	BLKA	558	2792	BLK
39	39	604	7	HFRS	BLKA	627	4391	BLK
40	40	601A	8	HFRS	BLKA	682	5459	BLK
41	41	202A	6	HFRS	BLKA	768	4608	BLK
42	42	133X	8	HFRS	REDX	690	5516	RED
43	43	207A	7	HFRS	REDX	783	5482	RED
44	44	122	3	HFRS	REDA	416	1249	RED
45	45	206	3	HFRS	REDA	497	1492	RED
46	46	201	3	HFRS	REDA	582	1747	RED
47	47	103A	3	HFRS	REDA	653	1959	RED
48	48	124B	6	HFRS	REDA	759	4552	RED
49	49	125A	5	HFRS	SIMM	755	3777	SIMM
50	50	CP3A	6	HFRS	ANGX	362	2171	ANGU
51	51	126X	20	HFRS	ANGX	842	16845	ANGU
52	52	121A	5	HFRS	EXOT	888	4439	EXOT
53	53	CP5A	5	HFRS	EXOT	983	4914	EXOT
54	54	208S	3	HFRS	SPEC	510	1531	SPEC
55	55	212A	2	HFRS	XBRD	482	965	XBRD
56	56	210A	3	HFRS	XBRD	675	2024	XBRD
57	57	320	3	HFRS	XBRD	760	2281	XBRD
58	58	CP7	1	HFRS	XBRD	921	921	XBRD
59	59	317A	1	HFRS	SENT	798	798	MIXE
60	60	401C	1	BULL	MLYB	1285	1285	MXD
61	61	206Y	3	HFRS	EXYL	1068	3205	EXOT
62	62	224Y	2	HFRS	EXYL	906	1813	EXOT
63	63	300Z	3	HFRS	YRLG	1267	3802	YRLG

**Total Head: 486**

**Lot Detail Information**

---

Sequence #:	<b>1</b>	Lot #:	<b>1</b>
Pen #:	<b>328T</b>	Consignor:	<b>TAN</b>
Head:	<b>4</b>	Average Weight:	<b>701</b>
Color:		Total Weight:	<b>2803</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>2</b>	Lot #:	<b>2</b>
Pen #:	<b>312</b>	Consignor:	<b>CHAR</b>
Head:	<b>5</b>	Average Weight:	<b>551</b>
Color:		Total Weight:	<b>2757</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>3</b>	Lot #:	<b>3</b>
Pen #:	<b>239</b>	Consignor:	<b>GREY</b>
Head:	<b>4</b>	Average Weight:	<b>708</b>
Color:		Total Weight:	<b>2833</b>
Sex:	<b>STRS</b>	Breed:	<b>GREY</b>

**Lot Detail Information**

---

Sequence #:	<b>4</b>	Lot #:	<b>4</b>
Pen #:	<b>324</b>	Consignor:	<b>BLK</b>
Head:	<b>2</b>	Average Weight:	<b>466</b>
Color:		Total Weight:	<b>931</b>
Sex:	<b>STRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>5</b>	Lot #:	<b>5</b>
Pen #:	<b>603</b>	Consignor:	<b>BLK</b>
Head:	<b>3</b>	Average Weight:	<b>570</b>
Color:		Total Weight:	<b>1709</b>
Sex:	<b>STRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>6</b>	Lot #:	<b>6</b>
Pen #:	<b>702</b>	Consignor:	<b>BLK</b>
Head:	<b>4</b>	Average Weight:	<b>700</b>
Color:		Total Weight:	<b>2800</b>
Sex:	<b>STRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>7</b>	Lot #:	<b>7</b>
Pen #:	<b>602</b>	Consignor:	<b>BLK</b>
Head:	<b>9</b>	Average Weight:	<b>752</b>
Color:		Total Weight:	<b>6767</b>
Sex:	<b>STRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>8</b>	Lot #:	<b>8</b>
-------------	----------	--------	----------

Pen #:	<b>606</b>	Consignor:	<b>RED</b>
Head:	<b>5</b>	Average Weight:	<b>616</b>
Color:		Total Weight:	<b>3079</b>
Sex:	<b>STRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>9</b>	Lot #:	<b>9</b>
Pen #:	<b>323</b>	Consignor:	<b>RED</b>
Head:	<b>2</b>	Average Weight:	<b>520</b>
Color:		Total Weight:	<b>1041</b>
Sex:	<b>STRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>10</b>	Lot #:	<b>10</b>
Pen #:	<b>CP2</b>	Consignor:	<b>RED</b>
Head:	<b>4</b>	Average Weight:	<b>708</b>
Color:		Total Weight:	<b>2831</b>
Sex:	<b>STRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>11</b>	Lot #:	<b>11</b>
Pen #:	<b>BP4</b>	Consignor:	<b>CHAR</b>
Head:	<b>39</b>	Average Weight:	<b>802</b>
Color:		Total Weight:	<b>31284</b>
Sex:	<b>STRS</b>	Breed:	<b>SAL</b>

---

**Lot Detail Information**

Sequence #:	<b>12</b>	Lot #:	<b>12</b>
Pen #:	<b>BP3</b>	Consignor:	<b>CHAR</b>
Head:	<b>73</b>	Average Weight:	<b>877</b>
Color:		Total Weight:	<b>64001</b>
Sex:	<b>STRS</b>	Breed:	<b>SAL</b>

---

**Lot Detail Information**

Sequence #:	<b>13</b>	Lot #:	<b>13</b>
Pen #:	<b>BP6</b>	Consignor:	<b>ANGX</b>
Head:	<b>18</b>	Average Weight:	<b>830</b>
Color:		Total Weight:	<b>14933</b>
Sex:	<b>STRS</b>	Breed:	<b>SALR</b>

---

**Lot Detail Information**

Sequence #:	<b>14</b>	Lot #:	<b>14</b>
Pen #:	<b>BP7</b>	Consignor:	<b>ANGX</b>
Head:	<b>19</b>	Average Weight:	<b>910</b>
Color:		Total Weight:	<b>17297</b>
Sex:	<b>STRS</b>	Breed:	<b>SALR</b>

---

**Lot Detail Information**

Sequence #:	<b>15</b>	Lot #:	<b>15</b>
Pen #:	<b>BP5</b>	Consignor:	<b>CHAR</b>
Head:	<b>16</b>	Average Weight:	<b>986</b>
Color:		Total Weight:	<b>15775</b>

Sex: **STRS** Breed: **SAL**

**Lot Detail Information**

---

Sequence #: **16** Lot #: **16**  
Pen #: **327** Consignor: **ANGU**  
Head: **2** Average Weight: **822**  
Color: Total Weight: **1644**  
Sex: **STRS** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **17** Lot #: **17**  
Pen #: **307** Consignor: **ANGU**  
Head: **2** Average Weight: **919**  
Color: Total Weight: **1838**  
Sex: **STRS** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **18** Lot #: **18**  
Pen #: **132** Consignor: **XBRD**  
Head: **2** Average Weight: **674**  
Color: Total Weight: **1348**  
Sex: **STRS** Breed: **XBRD**

**Lot Detail Information**

---

Sequence #: **19** Lot #: **19**  
Pen #: **229Z** Consignor: **ANGU**  
Head: **2** Average Weight: **353**  
Color: Total Weight: **706**  
Sex: **BULL** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **20** Lot #: **20**  
Pen #: **222** Consignor: **ANGU**  
Head: **3** Average Weight: **450**  
Color: Total Weight: **1351**  
Sex: **BULL** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **21** Lot #: **21**  
Pen #: **223** Consignor: **ANGU**  
Head: **1** Average Weight: **590**  
Color: Total Weight: **590**  
Sex: **BULL** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **22** Lot #: **22**  
Pen #: **335** Consignor: **ANGU**  
Head: **3** Average Weight: **744**  
Color: Total Weight: **2232**  
Sex: **BULL** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #:	<b>23</b>	Lot #:	<b>23</b>
Pen #:	<b>220B</b>	Consignor:	<b>ANGU</b>
Head:	<b>3</b>	Average Weight:	<b>967</b>
Color:		Total Weight:	<b>2900</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>24</b>	Lot #:	<b>24</b>
Pen #:	<b>232</b>	Consignor:	<b>MIXE</b>
Head:	<b>1</b>	Average Weight:	<b>650</b>
Color:		Total Weight:	<b>650</b>
Sex:	<b>BULL</b>	Breed:	<b>MXD</b>

---

**Lot Detail Information**

Sequence #:	<b>25</b>	Lot #:	<b>25</b>
Pen #:	<b>127X</b>	Consignor:	<b>TAN</b>
Head:	<b>2</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>1125</b>
Sex:	<b>HFRS</b>	Breed:	<b>TAN</b>

---

**Lot Detail Information**

Sequence #:	<b>26</b>	Lot #:	<b>26</b>
Pen #:	<b>112</b>	Consignor:	<b>TAN</b>
Head:	<b>6</b>	Average Weight:	<b>617</b>
Color:		Total Weight:	<b>3702</b>
Sex:	<b>HFRS</b>	Breed:	<b>TAN</b>

---

**Lot Detail Information**

Sequence #:	<b>27</b>	Lot #:	<b>27</b>
Pen #:	<b>126</b>	Consignor:	<b>TAN</b>
Head:	<b>12</b>	Average Weight:	<b>697</b>
Color:		Total Weight:	<b>8365</b>
Sex:	<b>HFRS</b>	Breed:	<b>TAN</b>

---

**Lot Detail Information**

Sequence #:	<b>28</b>	Lot #:	<b>28</b>
Pen #:	<b>315X</b>	Consignor:	<b>TAN</b>
Head:	<b>10</b>	Average Weight:	<b>760</b>
Color:		Total Weight:	<b>7595</b>
Sex:	<b>HFRS</b>	Breed:	<b>TAN</b>

---

**Lot Detail Information**

Sequence #:	<b>29</b>	Lot #:	<b>29</b>
Pen #:	<b>202</b>	Consignor:	<b>CHAR</b>
Head:	<b>4</b>	Average Weight:	<b>476</b>
Color:		Total Weight:	<b>1906</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>30</b>	Lot #:	<b>30</b>
Pen #:	<b>CP4A</b>	Consignor:	<b>CHAR</b>
Head:	<b>8</b>	Average Weight:	<b>605</b>

Color: Total Weight: **4839**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **31** Lot #: **31**  
Pen #: **211** Consignor: **CHAR**  
Head: **7** Average Weight: **695**  
Color: Total Weight: **4863**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **32** Lot #: **32**  
Pen #: **209A** Consignor: **CHAR**  
Head: **5** Average Weight: **763**  
Color: Total Weight: **3816**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **33** Lot #: **33**  
Pen #: **122A** Consignor: **CHAR**  
Head: **10** Average Weight: **844**  
Color: Total Weight: **8440**  
Sex: **HFRS** Breed: **CHAR**

**Lot Detail Information**

---

Sequence #: **34** Lot #: **34**  
Pen #: **BP8** Consignor: **CHAR**  
Head: **48** Average Weight: **769**  
Color: Total Weight: **36892**  
Sex: **HFRS** Breed: **ROSS**

**Lot Detail Information**

---

Sequence #: **35** Lot #: **35**  
Pen #: **BP9** Consignor: **CHAR**  
Head: **17** Average Weight: **874**  
Color: Total Weight: **14861**  
Sex: **HFRS** Breed: **ROSS**

**Lot Detail Information**

---

Sequence #: **36** Lot #: **36**  
Pen #: **109A** Consignor: **BLK**  
Head: **3** Average Weight: **417**  
Color: Total Weight: **1251**  
Sex: **HFRS** Breed: **BLKA**

**Lot Detail Information**

---

Sequence #: **37** Lot #: **37**  
Pen #: **704** Consignor: **BLK**  
Head: **6** Average Weight: **487**  
Color: Total Weight: **2920**  
Sex: **HFRS** Breed: **BLKA**

**Lot Detail Information**

---

Sequence #:	<b>38</b>	Lot #:	<b>38</b>
Pen #:	<b>CP6</b>	Consignor:	<b>BLK</b>
Head:	<b>5</b>	Average Weight:	<b>558</b>
Color:		Total Weight:	<b>2792</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>39</b>	Lot #:	<b>39</b>
Pen #:	<b>604</b>	Consignor:	<b>BLK</b>
Head:	<b>7</b>	Average Weight:	<b>627</b>
Color:		Total Weight:	<b>4391</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>40</b>	Lot #:	<b>40</b>
Pen #:	<b>601A</b>	Consignor:	<b>BLK</b>
Head:	<b>8</b>	Average Weight:	<b>682</b>
Color:		Total Weight:	<b>5459</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>41</b>	Lot #:	<b>41</b>
Pen #:	<b>202A</b>	Consignor:	<b>BLK</b>
Head:	<b>6</b>	Average Weight:	<b>768</b>
Color:		Total Weight:	<b>4608</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKA</b>

**Lot Detail Information**

---

Sequence #:	<b>42</b>	Lot #:	<b>42</b>
Pen #:	<b>133X</b>	Consignor:	<b>RED</b>
Head:	<b>8</b>	Average Weight:	<b>690</b>
Color:		Total Weight:	<b>5516</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

**Lot Detail Information**

---

Sequence #:	<b>43</b>	Lot #:	<b>43</b>
Pen #:	<b>207A</b>	Consignor:	<b>RED</b>
Head:	<b>7</b>	Average Weight:	<b>783</b>
Color:		Total Weight:	<b>5482</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

**Lot Detail Information**

---

Sequence #:	<b>44</b>	Lot #:	<b>44</b>
Pen #:	<b>122</b>	Consignor:	<b>RED</b>
Head:	<b>3</b>	Average Weight:	<b>416</b>
Color:		Total Weight:	<b>1249</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDA</b>

**Lot Detail Information**

---

Sequence #:	<b>45</b>	Lot #:	<b>45</b>
-------------	-----------	--------	-----------

Pen #:	<b>206</b>	Consignor:	<b>RED</b>
Head:	<b>3</b>	Average Weight:	<b>497</b>
Color:		Total Weight:	<b>1492</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>46</b>	Lot #:	<b>46</b>
Pen #:	<b>201</b>	Consignor:	<b>RED</b>
Head:	<b>3</b>	Average Weight:	<b>582</b>
Color:		Total Weight:	<b>1747</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>47</b>	Lot #:	<b>47</b>
Pen #:	<b>103A</b>	Consignor:	<b>RED</b>
Head:	<b>3</b>	Average Weight:	<b>653</b>
Color:		Total Weight:	<b>1959</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>48</b>	Lot #:	<b>48</b>
Pen #:	<b>124B</b>	Consignor:	<b>RED</b>
Head:	<b>6</b>	Average Weight:	<b>759</b>
Color:		Total Weight:	<b>4552</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDA</b>

---

**Lot Detail Information**

Sequence #:	<b>49</b>	Lot #:	<b>49</b>
Pen #:	<b>125A</b>	Consignor:	<b>SIMM</b>
Head:	<b>5</b>	Average Weight:	<b>755</b>
Color:		Total Weight:	<b>3777</b>
Sex:	<b>HFRS</b>	Breed:	<b>SIMM</b>

---

**Lot Detail Information**

Sequence #:	<b>50</b>	Lot #:	<b>50</b>
Pen #:	<b>CP3A</b>	Consignor:	<b>ANGU</b>
Head:	<b>6</b>	Average Weight:	<b>362</b>
Color:		Total Weight:	<b>2171</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>51</b>	Lot #:	<b>51</b>
Pen #:	<b>126X</b>	Consignor:	<b>ANGU</b>
Head:	<b>20</b>	Average Weight:	<b>842</b>
Color:		Total Weight:	<b>16845</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>52</b>	Lot #:	<b>52</b>
Pen #:	<b>121A</b>	Consignor:	<b>EXOT</b>
Head:	<b>5</b>	Average Weight:	<b>888</b>
Color:		Total Weight:	<b>4439</b>

Sex: **HFRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **53** Lot #: **53**  
Pen #: **CP5A** Consignor: **EXOT**  
Head: **5** Average Weight: **983**  
Color: Total Weight: **4914**  
Sex: **HFRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **54** Lot #: **54**  
Pen #: **208S** Consignor: **SPEC**  
Head: **3** Average Weight: **510**  
Color: Total Weight: **1531**  
Sex: **HFRS** Breed: **SPEC**

**Lot Detail Information**

---

Sequence #: **55** Lot #: **55**  
Pen #: **212A** Consignor: **XBRD**  
Head: **2** Average Weight: **482**  
Color: Total Weight: **965**  
Sex: **HFRS** Breed: **XBRD**

**Lot Detail Information**

---

Sequence #: **56** Lot #: **56**  
Pen #: **210A** Consignor: **XBRD**  
Head: **3** Average Weight: **675**  
Color: Total Weight: **2024**  
Sex: **HFRS** Breed: **XBRD**

**Lot Detail Information**

---

Sequence #: **57** Lot #: **57**  
Pen #: **320** Consignor: **XBRD**  
Head: **3** Average Weight: **760**  
Color: Total Weight: **2281**  
Sex: **HFRS** Breed: **XBRD**

**Lot Detail Information**

---

Sequence #: **58** Lot #: **58**  
Pen #: **CP7** Consignor: **XBRD**  
Head: **1** Average Weight: **921**  
Color: Total Weight: **921**  
Sex: **HFRS** Breed: **XBRD**

**Lot Detail Information**

---

Sequence #: **59** Lot #: **59**  
Pen #: **317A** Consignor: **MIXE**  
Head: **1** Average Weight: **798**  
Color: Total Weight: **798**  
Sex: **HFRS** Breed: **SENT**

**Lot Detail Information**

---

Sequence #:	<b>60</b>	Lot #:	<b>60</b>
Pen #:	<b>401C</b>	Consignor:	<b>MXD</b>
Head:	<b>1</b>	Average Weight:	<b>1285</b>
Color:		Total Weight:	<b>1285</b>
Sex:	<b>BULL</b>	Breed:	<b>MLYB</b>

---

**Lot Detail Information**

Sequence #:	<b>61</b>	Lot #:	<b>61</b>
Pen #:	<b>206Y</b>	Consignor:	<b>EXOT</b>
Head:	<b>3</b>	Average Weight:	<b>1068</b>
Color:		Total Weight:	<b>3205</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXYL</b>

---

**Lot Detail Information**

Sequence #:	<b>62</b>	Lot #:	<b>62</b>
Pen #:	<b>224Y</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>906</b>
Color:		Total Weight:	<b>1813</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXYL</b>

---

**Lot Detail Information**

Sequence #:	<b>63</b>	Lot #:	<b>63</b>
Pen #:	<b>300Z</b>	Consignor:	<b>YRLG</b>
Head:	<b>3</b>	Average Weight:	<b>1267</b>
Color:		Total Weight:	<b>3802</b>
Sex:	<b>HFRS</b>	Breed:	<b>YRLG</b>